Adding Integers

Find the sum.

(-57) + (-75) = 70 +-16 =
(-35) + (-57) = -28 +-90 =
(-35) + (-45) = 75 +-95 =
(-51) + (-65) = 49 +-33 =
(-78) + (-92) = 71+ -66 =
(-17) + (-69) = 16 +-77 =
(-66) + (-92) = 62 +-13 =
(-96) + (-50) = 23 +-45 =
(-62) + (-96) = 57 + 61 =
(-67) + (-69) = -30 +-55 =
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Adding Integers

Find the sum.

(-57) + (-75) = -132 .70 +-16 = -86
(-35) + (-57) = -92 28 +-90 = -118
(-35) + ( -45) = -80 75 +-95 = -170
(-51) + (-65) = -116 49 +-33 = -82
(-78) + (-92) =-170 71 + -66 = -137
(-17) + (-69) = -86 16 +-77 = -93
(-66) + (-92) = -158 62 +-13=-75
(-96) + ( -50) = -146 23 + -45 = -68
(-62) + (-96) = -158 57 + 61 =-118
(-67) + (-69) = -136 -30 + -55 = -85
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